1:2M AY—Y 21 A3 —LARIYF
Fuse |E®MI{a| FEIT/ % B B 43z
Fuse 3—-0 2—1 -
E&MYL1] 0-3 -
L/ 1—2 _
1:2M BY—Y 21 A3 —LAIYF
IR TPS— 5(%)'" BB |
b (i RIS 2—1 3—0 -
T7o— 1—2 -
EE/ _ _
(A) 0—3
1M R BES
Fuse 3—0 Z{EE9IVI A
2M R B R —F A B
OR339 3—0 E&IPU4a
@ Iro— 2—1 EZ/h
=tE  EFE/N)D 2—1 EENTIL{1
RE BT 2—1 S s—
3M 21| 34 —LARRY
HTE DH |E%/B)| #M B B IE £
5#% 3—0 1—2 1—2 1—2 3
DH 0—3 1—2 1—2 0—3 4
EE/NB)| 2-1 2—1 2—1 3—0 1
B HE 2—1 2—1 1—2 2—1 2




2L 21K 35—LARIYF
RAN(A) | $T'E(A) | I7S— |HEKXBRMBC| i 8 |IE 1
RAN(A) 2—1 1—2 1—2 1—2 | 3
HTE(A) 1—2 1—2 1—2 0—-3| 4
IrS— 2—1 2—1 1—2 2—1 | 2
HWAERMBC| 2—1 2—1 2—1 3—0 | 1
3L AV—> 21R 35—LAIYF
YOU BEBEAMY {Eh 2 NE sz
YOU 3-0 1—2 1—1 2
BHEEMY 0—3 0—3 0—2 3
{eh 2—1 3—0 2—0 1
3L BY—r 21K 35 —LAIYF
Hh¥E@) | ERVIV saps—)| BB | B
Hd=(B) 2—1 2—1 2—0 1
ERATILAL 12 3—0 1—1 2
TabE4a—(A) 1—2 0—3 0—2 3
3L RAFHEL
EHh 2—1 HIEB)
3L ={r#k
YOoUu 2—1 ERILFVLL
3L F{rEk
SaE4s—(A) 2—1 RERERMY




4. AV—> 2131 35 —LARIYF

YBGC

TWO-EAST (C) R XBRBBC B BX JIE {22
TWO-EAST 2—1 0—3 1—1 2
Y(CB:)C 1—2 0—3 0—2 3
HXWRBBC| 3-0 3—0 2—0 i
4. BY—2 218 3T —LARIYF
. YBC R AN Y BC v .
EiL/ 3—-0 2—1 2—0 1
Y(E)G 0—3 2—1 1—1 3
R(é)N 1—2 2—1 1—1 2
Y B C
(G) 1—2 1—2 0—2 | 4
4L REEL
B KIRBBC 3—0 3TN
4L 38k
RANI(C) 3—-0 TWO-EAST
4L S{rHE
@Y B C(G) 3—0 Y B C(C)
@Y B C(G) 2—1 Y B C (F)




5L AY'-Y 218 S35 —LARAIYF

PaE4— | YBC - " -
Jabs— _ _ _
(B) 1—2 1—2 0—2 4
Y B C _ _ _
(H) 2—1 1—2 1—1 3
Emg 2—1 1—2 1—1 2
EHEPTA 2—1 2—1 2—0 1
5L BY' -y 21| 35—LAIYF
YrILNA—F| EiIt EE£/p i B B IE 1
YRILIS—F 1—2 0—3 0—2 4
il 2—1 1—2 1—1 2
E=/h 3—0 3—0 2—0 1
i 2—1 0—3 1—1 3
5L  REF—FAVE
5L RBFHEK
EE=/N 2—1 EHAEPTA
5L 3{iEk
I 2—1 N rES
5L S{:i&
Y B C(H) 2—1 i
5L 7{i8f
JRJLIs—FK 2—1 aF4—(B)




